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A U-tube acts as a water siphon (#x% %) (B =). The bend in’

the tube is 1 meter above the water surface; the tube outlet
is T meters below the water surface. The fluid issues (i)
from the bottom of the siphon as a free jet at atmospheric
pressure ( K f.E 571 =1.01x10°N/m?). If the flow is frictionless
(#E4%) as a first approximation, determine the speed of the
free jet and the absolute pressure of the fluid in the bend
(point A). The density of water is 999kg/m’.  20%

The sketch below (B =) shows a vane with a turning angle of

0°. The vane moves at constant speed, U=10m/sec, and receives’

a jet of water that leaves a stationary nozzle with speed,
V=30m/sec. The nozzle has an exit area of 0.003m*. Determine

the force of the water on the moving vane (both horizontal and !

vertical forces are r‘equ1red R F-Fu & B S 4R A *f—ﬁ'—) 20%
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B FIGURE 1 (a) Drag coefficient as a function of Reynolds number for a smooth |

" circolar cylinder and a smooth sphere.
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